
Model schedule for handlebar vibration damper LS 1000 / LS classic from

APRILIA Model Code Year M6 M8 Comment

all models until today all

Pegaso 650 MX 96-98

SL1000 Falco 99- Remove original fitting.  Mount LS 1000 / LS classic with rubber.

RSV1000 00- Remove original fitting.  Mount LS 1000 / LS classic with rubber.

RSV1000R 00- Remove original fitting.  Mount LS 1000 / LS classic with rubber.

ETV 1000 CapoNord 00- Remove original fitting.  Mount LS 1000 / LS classic with rubber.

BMW Model Code Year M6 M8 Comment

all models with M8 thread 

F650 VB101 95

F650/ST 95-00 ( ) Conditionally.Remove thread at the end of the handlebar (sawing)!

F650 CS Scarver ( ) Conditionally.Remove thread at the end of the handlebar (sawing)!

F650 GS 172 00- ( ) Conditionally.Remove thread at the end of the handlebar (sawing)!

F650 Dakar 173 00- ( ) Conditionally.Remove thread at the end of the handlebar (sawing)!

K1200LT K2LT 99-01

R45 351 78-80

R45 354 80-85

R45 355 80-85

R65 353 78-80

R65 358 80-82

R80 G/S 423 80-84

K100LT 91

R1100S all

R1150, all models 01- Attention! Don't damage the cable inside the handlebar

Buell Model Code Year M6 M8 Comment

all models until today all

Cagiva Model Code Year M6 M8 Comment

all models until today all

v-Raptor

350 W 12 2N1 94-96

Ducati Model Code Year M6 M8 Comment

400 SS ZDM400J 91-93

M 600 Monster ZDM600M 94-96

M 620 ie

620 Sport

748 SP 748SP 96

748 R ZDM748 00-01

749 03-

M750 Monster ZDM750M 96

750SS ZDM750SC 91-97

750 SS ie 99-

750 Sport

M800ie

851 ZDM851S3 91

851 Strada ZDM851S1 89-94

888 SP 888SP 90-93

888 Strada ZDM888S1 93-95

M900 Monster ZDM900M 93-96

M900ie

Monster S4  01-02 ( ) Conditionally. Use about 4 washers

900SS ZDM906SC 89-90

900SS/SL ZDM900SC2 91-96

900SS 98

907ie Paso ZDM906 91-93

ST4 916ST4 99 ( ) Conditionally.Use about 3-4 washers

ST4 S200AAYB

ST4S ( ) Conditionally.Use about 1-2 washers

916S ZDM916S 94-98

ST2 944ST2 97

996 996HS 99

998

999 03-

M1000ie 03-

1000SS 03-

Multistrada 1000 03-

HONDA Model Code Year M6 M8 Comment

CB 400N 78-84

CM400T NC01 80-84

CX 500 PC03 78-81

CX 500C PC01 79-84

CX 500E PC06 82-84

VT500 PC11 83-

CB500R PC32 98 Min. gap between handlebar and vibration damper 1mm. Use washers if necessary.

CB500 PC26 93-95 Min. gap between handlebar and vibration damper 1mm. Use washers if necessary.

CB500S PC32S 98-02

CB600F Hornet PC38 98

CBR600F PC35 99

NT650V Deauville RC33 98 Min. gap between handlebar and vibration damper 1mm. Use washers if necessary.

CBSevenFifty RC42 92-02

VFR750F RC24 86-89 Min. gap between handlebar and vibration damper 1mm. Use washers if necessary.

VFR750F RC36 94-96 Use about 2 washers M8.

XRV750 Africa Twin RD09 90-00 Displace handles and switches up to 5mm if necessary!

VFR800RC46   VFR 98 Min. gap between handlebar and vibration damper 1mm. Use washers if necessary.

CBR900RR Fireblade SC50 02- Min. gap between handlebar and vibration damper 1mm. Use washers if necessary.

CBR900RR Fireblade SC44 00-01 Min. gap between handlebar and vibration damper 1mm. Use washers if necessary.

CBR900RR Fireblade SC33 96-99 Min. gap between handlebar and vibration damper 1mm. Use washers if necessary.

CBR900RR Fireblade SC28 92-95 Fit with supplied bushing and thick rubber

Hornet 900 SC48 2 Min. gap between handlebar and vibration damper 1mm. Use washers if necessary.

VTR1000F FSC36 97 Min. gap between handlebar and vibration damper 1mm. Use washers if necessary.

VTR1000SP-1 SC45 0 Min. gap between handlebar and vibration damper 1mm. Use washers if necessary.

XL1000V Varadero. SD01 99 Min. gap between handlebar and vibration damper 1mm. Use washers if necessary.

CB1000F SC30 93-96 Min. gap between handlebar and vibration damper 1mm. Use washers if necessary.

CBR1000F SC24 89-99 Min. gap between handlebar and vibration damper 1mm. Use washers if necessary.

VTR1000F FireStorm SC36 97-02 Min. gap between handlebar and vibration damper 1mm. Use washers if necessary.

CBR1100XX SuperBlackbird SC35 96-02 Min. gap between handlebar and vibration damper 1mm. Use washers if necessary.

X-11 SC42 99-02 Min. gap between handlebar and vibration damper 1mm. Use washers if necessary.

CB1300 SC54 03- Min. gap between handlebar and vibration damper 1mm. Use washers if necessary.

KAWASAKI Model Code Year M6 M8 Comment

EL 250 Eliminator EL250E 91-95

GPZ400R ZX400D

Z440 ltd//G/C KZ440 80-84

ER-5 ER 01- Use high quality tools because of high tensile screw connections.

EN 500 Min. gap between handlebar and vibration damper 1mm. Use washers if necessary.

KLE500 92 ( ) Conditionally. Drill out 5,2mm. Tap M6. Use 4 washers!

Z550 ltd/GT/F KZ550 81-88

Zephyr 550



Model schedule for handlebar vibration damper LS 1000 / LS classic from

ZX-6R Ninja 95-96

ZX-6R     636 ZX600KK 02-04 Use high quality tools because of high tensile screw connections.

ZX-6R     05-

ZZR 600 ZX600 alle Use high quality tools because of high tensile screw connections.

W650 EJ650

Z750 03- Use high quality tools because of high tensile screw connections.

Z750S 04- Use high quality tools because of high tensile screw connections.

Zephyr 750 ZR750C 91-95

Zephyr 750 ZR750D 96-99

ZR-7 ZR750F/Z 99-01 Use high quality tools because of high tensile screw connections.

ZX7 00-

VN800 VN800A 94-96 Appropriate adapter available by appointment

VN800 Classic VN800B 96-01 Appropriate adapter available by appointment

VN800 Drifter VN800C1 00-01 Appropriate adapter available by appointment

GPZ900R ZX900A 84-94 Use high quality tools because of high tensile screw connections.

ZX-9R ZX900 02- Use high quality tools because of high tensile screw connections.

ZX10R 03-

Z1000 ZNT00 03- Use high quality tools because of high tensile screw connections.

ZZR1100 ZXT20 03- Use high quality tools because of high tensile screw connections.

ZRX1200 03- Use high quality tools because of high tensile screw connections.

ZX12-R Ninja ZXT70 03- Use high quality tools because of high tensile screw connections.

all models with M8 thread Use high quality tools because of high tensile screw connections.

KTM Model Code Year M6 M8 Comment

all models with hollow barend all

all models with M8 thread 00- use washers

Duke 1

Duke 2

MV Agusta Model Code Year M6 M8 Comment

750S 00-03 ( ) Conditionally. Screw M6*100 and additionally washers necessary.

SUZUKI Model Code Year M6 M8 Comment

all models until today all

GZ125 Marauder AP-GZ 99-00

AN125 JS1CF42A

GN125 NF41A 91-96

GS125 Katana JS1AW1111 97-

GS125 Katana JS1AW2111 97-

VZ125 2c Intruder JS1A4

AN250 JS1AN1111

GN250 NJ42A 82-96

AN400 JS1AU1111 99-

GS500E GM51A 89-96

GS500E Sk2 JS1A9 89-96

GSF600F Bandit JS1A8 95-

GSX600F GN72 96-

GSX-R 600 AD111 96-

GSX-R 600 JS1BG111 03-

RF600 GN76A 96-

DR650 alle JS1SP4 90-91

GR650F GP51A 83-85

SV650 S/N JS1AV 99-

GSX750 JS1AE111 98-01

GSX750F AK111

GSXR750 GR7DA/B 96-

GSXR750 J11BD 02-

DR800SDR BIG JS1SR42A 90-

DR800SDR BIG JS1SR43A 91-96

VS800GL Intruder VS52A Appropriate adapter available by appointment

RF900R

GSXR1000 JS1BL1 01-

SV1000 JS1BX322 03-

TL1000S AG111

GSX1100F 94-

GSX1200

GSF1200 Bandit GV75A 96-

GSXR1300  Hayabusa A111 99-

GSX 1400 JS1BN111

VS1400 Intruder VX51L ( ) Appropriate adapter available by appointment

TRIUMPH Model Code Year M6 M8 Comment

Speed 4 03- ( ) Conditionally. Drill out 5,2mm. Tap M6.

Sprint ST 03- ( ) Conditionally. Use washers.

Bonneville 00-02 ( ) Conditionally. Drill out 5,2mm. Tap M6.

Bonneville America 02- ( ) Conditionally. Drill out 5,2mm. Tap M6.

Speed Triple 03-

VOXAN Model Code Year M6 M8 Comment

all models until today all

Cafe-Racer vn4v 01- 16mm on the inside

Roadster 01-

Scrambler 01-

YAMAHA Model Code Year M6 M8 Comment

XV125 5AJ 97- ( ) Conditionally. Adapter Diameter=21, 15 long; has to be manufactured.

SR 500, all models 2J4/48T 78-96

XT500, all models 1N5/1U6/56U 76-89

XJ550 4V8/27A 81-83

FZS600 Fazer RJ021 98-00

FZS600 Fazer RJ021 01-

FZS600 Fazer RJ025

FZ-6 S Fazer 04-

SRX600 1XM/1XL 85-89

XJ600 S/N 4BR 94-

XJ600 S/N 4EB/RJ01 98-01 Use 1 or 2 washers M6 if necessary.

XT600E/K, all models 2KF etc. 84-90

XT600 DJ021 02-

YZF-R6 RJ03 99-02

TDM850 4TX 96-01

TDM900 RJ051/RN084

XJ900 S 4KM 94-96

FZS1000 Fazer RN06 01-

FZR1000 87-88

YZF1000R 96

YZF1000 4VD/SD 98

YZF-R1 RN01 99- Use 1 or 2 washers M6 if necessary.

YZF R1 RN095 03- Use 1 or 2 washers M6 if necessary.

RT1100 Bulldog Belgarda 02- ( ) Bushing necessary. Outside Ø 21mm, inside Ø8, 13mm high; washers M8 if necessary

XJR1300 RP0 99-02

FJR 1300 PR04/PO86 Use 1 or 2 washers M6 if necessary.


